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M sJI=4H
HH: AW 2 (sl b /52 - 5F)
tel sge =2XEd (etel: =3
- _ _ ME
SAN-ZH-SA(FA) - NFAY - BES O AF K 'oﬂ/'\_FOH Hlw &2
= 7,200
= 46,800
02 2ItAASE X 54,000 48,000 6,000
OSHIBZ ALY 24,000
-sE52 2HZE N 24,000,000 24,000
= 7,200
= 16,800
O==32 FMEE A 30,000,000& 30,000
H&sMEH2YE K& 410,500 111,860 298,640
& 18,200
= 213,000
= 179,300
307 QI2t0IA 110,500 111,860 21,360
£ 18,200
& 13,000
= 79,300
02 2ItAASE X 110,500 111,860 21,360
OZHIExZ A 110,500
—0E=sgodyH 28X
130,000, 000€ * 10 2~ *85/100 110,500
& 18,200
& 13,000
= 79,300
401 Al&HIZL=ROHYI 50,000 0 50,000
= 50,000
01 Al&HI 49,460 0 49,460
OZHIEx ALY 49,460
—HAsSUNEHSL S2RY SHMH (O3
22 2124d) 49,460,000 49,460
[ 49,460
03 AIZ=20bl 540 0 540
OZHIBZ ALY 540
—HAsSUUEHRLE SRY SFME (O3
=828 2|242)  50,000,0009 *1.08/100 540
& 540
402 SItXHE01H 250,000 0 250,000
(= 150,000
i 100,000
01 2 X2EX 250,000 0 250,000
Oodsgedyd &5 100,000, 000& *1JH 2 100,000
OZHIE=AS 150,000
—He=sYAUERE SR SHZIHE (IHoF
S2Y AF) 150,000, 000& 150,000
= 150,000
SEME 2435 560,820 596,295 A35,475
= 95,000
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ol sEME g (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
= 7,619
= 9,285
2 448,916
STSRIEETETEE S5 150,000 201,000 A51,000
307 eI2H0IE 50,000 0 50,000
VR EES 50,000 0 50,000
Os#Il 012244 29 25,000,0002 *20H & 50,000
402 RIAX20IH 100,000 201,000 A101,000
01 PIZXIZEE 100,000 201,000 ~101,000
Os=e BANL HEFY X
100,000, 000! 100,000
SXABFMM BOIZY N 50,000 50,000 0
z 25,000
2 25,000
402 RIHR20IH 50,000 50,000 0
z 25,000
2 25,000
01 PIATEBE 50,000 50,000 0
OBAXI AL HSHEH AL 50,000
—=X BOIEY X 50,000,002 50,000
z 25,000
2 25,000
SEAUTL0IS 50,000 50,000 0
z 25,000
2 25,000
402 QIR 20IH 50,000 50,000 0
2 25,000
2 25,000
01 QIZTEBE 50,000 50,000 0
OBAX LS B H AL 50,000
—5E2Y 202 84 50,000,002 50,000
z 25,000
2 25,000
SEUXNA T4 97,370 100,170 A2,800
= 7,619
= 89,751
201 Yer2 Yyl 32,050 32,050 0
01 AR eIl 32,050 32,050 0
ogersg| 3,400,000 3,400
o2gag 24,550,002 24,550
SEE 2,100,0002! 2,100
oYxz 2,000,002 2,000
202 01t 6,480 6,480 0
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
01 2UhoiH| 6,480 6,480 0
ONER2E H2ET 6,480,000% 6,480
206 W2 26,000 25,800 200
01 T2 26,000 25,800 200
ORMEIHHE HHDS M2 30,0009 60 1,800
OMEINM AEOIS =3RS M2
200,0002 #1702 3,400
OalMg B IAITHE
30,0002 ¥40% 1,200
OELPESITL ==
200, 00021 #17S & 3,400
OREZAAT WE=]
200, 00021 +63] 1,200
ORI D 50, 00021 *524 & x243] 6,000
oYM
30,0002 * 153|202 9,000
SIRI=P= 22,840 22,840
= 4,000
2 18,840
10 BAAHIR A3 22,840 22,840 0
OZMENHE INDS EA
7,0002! %60 *23] 840
OsMS4sHE 25H 24
10,0002 *30% +123] 3,600
O M252 DSEA  30,0002+102+103 3,000
OMEII&IIE DHDS  4,000,000813] 4,000
= 2,000
2 2,000
OMENHE CUATNTASER &
30, 00021 202 x22 %23 2,400
OMEINMS & SYDY &
30,0002 *10% *103) 3,000
OCiH S0l SHIWL DS 4,000,000 18] 4,000
= 2,000
2 2,000
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10,0002 2002 2,000
307 BI2H0I 6,000 6,000 0
02 SIHANBE 4,000 4,000 0
OMEINMS SHEDS  4,000,000813] 4,000
03 ALBIEHHIZES 2,000 2,000 0
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402 DIZHXHZ O 4,000 4,000 0
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OsZ:0ns SSXY 4,000,008 1A 4,000
= 3,619
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SENMASES X 92,500 129,500 37,000
206 T2 H| 5,000 2,000 3,000
01 MZH 5,000 2,000 3,000
OsJlE E28 W27 5,000,000 5,000
207 S1Pop | 20,000 10,000 10,000
01 gl 20,000 10,000 10,000
O#IlE TECIX N 20,000,000 20,000
307 21240/ H 7,500 7,500 0
02 BIHFABE 7,500 7,500 0
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01 AR =X 30,000 110,000 80,000
Os42 JIBIIH X 30,000,000 30,000
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z 21,665
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= 2,775
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= 1,750
10 BALAH 2 AR 2,500 3,000 A500
OZHIEF A 2,500
—AHIX sYna 2 2,500,000} 2,500
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= 1,750
402 QIR0 19,200 5,000 14,200
= 5,760
z 13,440
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M s€lis4dH

HH: sl a Y (SEHYSN/52 - 5E)

CHOl: AlZEA AR R (Etel: &8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OHSRE 4EXL 895,000,000 895,000
402 QIZEXHEO0IH 130,000 240,000 110,000
01 QIR 130,000 240,000 110,000
OHSEY B2AAY X2 130,000
—IIESDAL B 30,000, 00084 30,000
—AsE HHEX 100,000,000% 100,000
B S A 659, 167 548,468 110,699
= 19,864
= 639,303
206 THEH 559, 167 548,468 10,699
= 19,864
= 539,303
01 Tl 559, 167 548,468 10,699
OZHI2E A 59,167
—=OtOlA AR EH| X 28,192,0008! 28,192
= 10,572
= 17,620
—bf HollE ZSYHYl XY 30,975,0002 30,975
= 9,292
z 21,683
Of 2Xel YHst X8 500,000,000 500,000
402 QIEXHZOIH 100,000 0 100,000
01 QIARESE 100,000 0 100,000
OHHHE LHE RIe)| X
200,000, 000! * 1CH*50/100 100,000
AlYXE ObN Ml 305,617 204,332 11,285
201 Yer2ey| 11,150 10,950 200
01 At el 11,150 10,950 200
Oger+gy| 5,750,000% 5,750
Osg+g 1,000,000% 1,000
ozl 3,500,000% 3,500
oYtz 900,000% 900
202 01t 6,912 10,368 13,456
01 2UH0IHl 6,912 10,368 N3,456
OAMZEZS orgMs YRFX 6,912,008 6,912
203 YR FAY| 500 500 0
03 AIBEXYREAY| 500 500 0
OMZRZ OFHMA AIHFXA 500,000% 500
301 Lere Az 3,200 3,800 600
10 BAAHIZA S 3,200 3,800 600
OMMASEUY F ZIHa A4
10,0002/ *100% 1,000
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et Al AT R (cel @
S BB SR (B) - NEAY - BAS 0f & o Soe DB
oA 2o 24 10,0003 x30H *22] 600
ORNY MHHIISDS HH24
10,000& 80 »23] 1,600
307 2120l & 274,855 259,714 15,141
02 232X 149,855 134,714 15,141
OXolithdl oBl2 |2 2,500& *2,0004 Xt 5,000
OH 2285 AN
1,665,000 *290E *30/100 144,855
03 AtRIEHMEXES 2,000 2,000 0
OAgdsE g4t X3 2,000,000& 2,000
04 QIZFHALE X 3,000 3,000 0
O=Rcl2Atel HEHA X& 3,000,000& 3,000
05 BIZtRAE =S 120,000 120,000 0
OH EallEs e 40,000& *3,000ha 120,000
401 Al HI LS 5,000 5,000 0
03 A&E20HYI 5,000 5,000 0
OH gois &3M 2l 5,000,000& 5,000
402 2IZ2tt=01d 4,000 4,000 0
01 It ELEL 4,000 4,000 0
OXEE H REES SAHE 24
2,000,000 *29H 2~ 4,000
wHASEM NFAN=S 5,747,460 6,388,200 A640,740
= 5,747,460
307 2120l & 5,747,460 6,388,200 A640,740
= 5,747,460
02 It aEx 5,747,460 6,388,200 A640,740
O=HIEX AL 5,747,460
—MASEM DHEA=ES 5,747,460,000& 5,747,460
= 5,747,460
HASEM NFMNE SEHY 34,627 7,346 27,281
Il 34,627
201 Bt 3,000 2,482 518
) 3,000
01 At 2t2lH 3,000 2,482 518
OJ12 At 3,000
—HASEIANEM MEN EESHH
3,000,000& 3,000
p) 3,000
202 044 14,627 4,864 9,763
) 14,627
01 =LHOYI 14,627 4,864 9,763
OJ12 At 14,627
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M s€lis4dH

HH: sl a Y (SEHYSN/52 - 5E)

SR AlZFALART & (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
= 203,294
= 87,127
= ASD|E S ALY 1,620,000 0 1,620,000
= 1,194,000
= 426,000
307 QI2toIA 1,620,000 0 1,620,000
= 1,194,000
= 426,000
02 BIZtAAE X 1,620,000 0 1,620,000
O2HIBZ ALY 1,194,000
—= ASDI|EF U AP (ZAIZ X2THHH)
639,000,000 639,000
= 639,000
—= ASD|BF O AFY (SO IH84AIE B
A2 THHH) 555,000,000 555,000
= 555,000
O= ASD|EF CHUSIAI (ZAIER S©X XI”)
426,000,000 426,000
Fetds=s 2,447,862 2,436,572 11,290
= 1,004,783
=2 6,000
[= 109,938
= 1,327,141
=H| XSS XHH 146,000 209,520 263,520
= 73,000
[= 21,900
= 51,100
307 QIZto|A 146,000 209,520 263,520
= 73,000
[= 21,900
= 51,100
02 BIZtAAE X 146,000 209,520 263,520
O2HIBZ ALY 146,000
—=HX2 EX0 X 146,000,000 146,000
= 73,000
[= 21,900
= 51,100
SIEHI 2 XA 905,600 676,000 229,600
= 424,149
[= 48,510
= 432,941
307 QI2to|A 905,600 676,000 229,600
= 424,149
[= 48,510
= 432,941
02 QI2+tFAEX 905,600 676,000 229,600
OZHIBZAY 905,600
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FH: sl (sgalldsdt/sd - &)
ol HEASARY (et & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—RJIEHl=z 5= K& 905,600,000& 905,600
2 424,149
L= 48,510
i 432,941
HESEsHAE 75,600 163,000 A87,400
= 75,600
307 GI2t0IA 75,600 163,000 287,400
= 75,600
02 QIHFAE X 75,600 163,000 A87,400
OIHIEZ ALY 75,600
—&Ed=sd HEX=H(243ha)
75,600,000& 75,600
= 75,600
S sits MAX & 701,006 495,111 205,895
= 6,000
i 695,006
101 Q1244 19,446 17,951 1,495
&2 6,000
i 13,446
04 JIZHMIZ2XSE =+ 19,446 17,951 1,495
OE2HE AIZMHHA £ N R 19,446
—Jl=22 39,0003 »2H 185 14,430
2 6,000
= 8,430
—F5gdg 39,0003 x2H 37 2,886
—AlEE = 17,316,000 *12.3% 2,130
201 et 10,780 8,780 2,000
01 AtS 22/l 8,380 6,380 2,000
Oget=gH| 4,080,000& 4,080
O= &l 2,300,000& 2,300
Oz ad SEAEEHX EZ2HE 2,000,000 2,000
02 2323l 2,400 2,400 0
OA&EZHIS X 2,400,000& 2,400
202 O4dl 6,480 6,480 0
01 =Yl 6,480 6,480 0
Oogtdsg gf=ad 6,480,000 6,480
206 M=l 15,000 15,000 0
RER] 15,000 15,000 0
OF&H=9 21738 XM K& 10,000,008 10,000
OEg=24d 338 Ma-4 5,000, 000& 5,000
207 Ao 4,000 4,000 0
03 A& A HI 4,000 4,000 0
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Ha: =o)L (SHHSSM/5Y - 5&)
el AEBASASH (el:@g
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O BZ 2AZM 29 4,000,000 4,000
301 YA 9,000 4,000 5,000
10 BALAH B AD 9,000 4,000 5,000
OTEY ¥ MACK L ABAY DAL
e 10,0002 * 1002 *93 9,000
307 2120/ & 133,500 78,500 55,000
02 PIAFAEE 123,500 73,500 50,000
OHZN? SN 5,500,0002 *7ha 38,500
OXEZY AB 242 X 5,000, 0002 5,000
OXBRSAMS M4 ZXXZ XL
80,000,000 80,000
04 QIAHAIEE 10,000 5,000 5,000
OZ ARl 28 FBA=Y SN
10,000, 0002 10,000
402 Q12X 0| H 497,800 355,400 142,400
01 DINTEEE 497,800 355,400 142,400
O=HIE2l WESK SHH X
6,000,000 *27H 4 +80/ 100 9,600
OXEH AZ CIHIGK X4
1,000,000 *10ha*80/100 8,000
OXEBY DIMSSY ALY
900, 0002 *200ha*80/ 100 144,000
OHBHSMS MUTTEY
5,000, 0002 *32 4 15,000
OXEZE AS & MACK X 244,400
—ex0l =1 194,400,002 194,400
—EEY X 100,000, 0002 ¥50/100 50,000
OXBA =SAE &3 X2
1,000,000 *60na*80/100 48,000
OH2Z 5 SUEY &3
800,000 *45C} +80/ 100 28,800
405 X+atE S| 5,000 5,000 0
01 KoL SEH S| 5,000 5,000 0
OELAFA ==Y DI 5,000, 0002 5,000
SN H S E AL 617,192 799,429 A182,237
2 432,034
= 39,085
2 146, 123
307 2120/ & 617,192 799,429 ~182,237
2 432,034
= 39,085
2 146,123
02 UAAMBE 617,192 799,429 ~182,237
O=HIEZ AL 617,192
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493
1,971
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370,850
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—H gais HEL2H 500,000& 500
= 250
= 250
—EAHEY 2F o2y 6,000,000 6,000
= 3,000
= 3,000

201 23| 3,000 3,000
= 1,500
= 1,500

01 AFR22lH] 3,000 3,000
O=HIE= At 3,000
—H HolSZH FEEIRX 3,000,000& 3,000
= 1,500
i 1,500

202 O4H| 8,600 8,600
= 4,300
= 4,300

01 =Wl 8,600 8,600
O=HIEX A 8,600
—H HollsSZH At =2 3,000,000& 3,000
= 1,500
= 1,500
—EAdHEA 2 gRFA 5,600,000& 5,600
= 2,800
= 2,800

206 M= Hl 1,400 1,400
= 700
= 700

01 MH=z=Hl 1,400 1,400
O=HIE= At 1,400
—H golsuEL 29 1,000,000& 1,000
= 500
i 500
—EXHE ANEZXHFH =227 400,000& 400
= 200
= 200

301 et2 4= 900 900
= 450
= 450

12 JIEtE 43 900 900
O=HIEXZ AL 900
—H M5 2 2FEL SX 150, 0002 *6IH 2~ 900
= 450
i 450

405 XH&HFE SHI 5,300 5,300
= 2,650
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M s€lis4dH

HE: so)|a S (SEHLSM/5 - 5E)

Sl IEYEIIERS (B9 @e
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 2,650
01 XHAUSEF S| 5,300 5,300 0
CELCEIN- 5,300
—OIEA I PY 5,300, 0002 5,300
= 2,650
2 2,650
MlERE-ReIlE 445,000 575,000 130,000
= 308,000
= 2,500
2 134,500
402 Q12FXHEOI R 445,000 556,000 A111,000
= 308,000
= 2,500
= 134,500
01 PIAX=EE 445,000 556,000 A111,000
ORI EAIY 445,000
—X s SH3 ALY 440,000,000 440,000
=2 308,000
2 132,000
—HEY SAS MUSX A 5,000,008 5,000
= 2,500
2 2,500
NesHHLHE 29 105, 121 126,556 ~21,435
101 Q124 42,001 40,436 1,565
04 JARZENSES 42,001 40,436 1,565
OBBYSAE 29 oY 11,289
s 34,9002 %22 +1202 8,376
—FEYULY 34,9008 %23 #242 1,676
—4REE 10,052,00024*12. 3% 1,237
OMZNEEE B2l oY
34,9002 +8% +502 13,960
OAJIX 2SR ¥ BLXY oL
34,9009 x84 +302 8,376
OF2HE MHH SXES 212
34,9009 x84 302 8,376
201 Yereg| 13,800 13,800 0
01 AtR22lt] 3,300 3,300 0
OYst+gH| 1,500,000% 1,500
o2zl 1,800,000% 1,800
02 ZZ2H| 10,500 10,500 0
SI=E=] 4,500,000% 4,500
OAN&ZH SXIHI 6,000, 0002 6,000
202 01t 4,320 4,320 0
01 =Uoit] 4,320 4,320 0
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SN S SME
HE: SIS (580 =Z)
Sl BetYsI|ERE (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Aol Ofl At ot HwsZ
SSIEEEE; 4,320,0002 4,320
206 T2 35,000 38,000 3,000
01 HEH| 35,000 38,000 A3,000
OBt Y sA 9%)
10,000,000 10,000
OMZNEELE 9%) 5,000,000 5,000
OAIIIXI 22 10,000,000 10,000
Oz 23 WETL (BT
9l 5%) 5,000, 0002 5,000
OMEIEE 2% (=22l 95)
5,000, 0002 5,000
405 THAHE S 10,000 0 10,000
01 RAUSESH S| 10,000 0 10,000
SESFEIE = o) 2el
2,500, 0002 2,500
OZMW ItEI| 7 4,000,0002 4,000
OBteA IHE ZES2EH P 2,000,0008 2,000
OsAMEE 29I 2 1,500,0002 1,500
SRS 4,000 1,000 3,000
= 2,000
2 2,000
402 Q12X 0|H 4,000 1,000 3,000
= 2,000
2 2,000
01 QIARERE 4,000 1,000 3,000
OZHIREA 4,000
— Ot E S A SR SAIE
4,000,0002 4,000
= 2,000
2 2,000
e RIlsaE 100,000 0 100,000
=2 50,000
2 50,000
402 Q12X 0|H 100,000 0 100,000
= 50,000
= 50,000
01 QIARZRE 100,000 0 100,000
SELIEIVE 100,000
—SIIH MHIZ SN (MR)-2SII2
100,000, 0002 100,000
= 50,000
2 50,000
=917 3t 3,641,051 2,775,216 865,835
= 25,500
= 46,200
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M s€lis4dH

HH: o)WY (SEHS AL/ 5 - &)

=Rl sgolH e (98
S FB SR (E) - NRAY - Be S 0} & o Soe RS2
= 3,569,351
sIHESAMS-II=XH 56,200 51,900 4,300
= 25,500
= 30,700
201 Let2E] 450 450 0
= 225
= 225
01 AtR2teld] 450 450 0
O=3HIEX=AE 450
—sJ|H WE MY 450,000& 450
= 225
= 225
206 M= dl 5,550 1,550 4,000
= 775
= 4,775
01 M= bl 5,550 1,550 4,000
OsJIH usd 5= 78  100,000& «30 3,000
OsJIH nusHd otdl2 2 25,0003 40 1,000
O=HIEx=AS 1,550
—sJIH UEsd MY 1,550,000& 1,550
2 775
= 775
301 LBIR AR 2,200 1,000 1,200
= 500
= 1,700
10 SAHAHIEA S 2,200 1,000 1,200
OsJIH ded2s 484
10,000 *30H *4 2 1,200
O=ZHIEX=AS 1,000
—sJ|H NEsed 10,0002 100 1,000
= 500
o 500
405 XtobE SHI 48,000 48,900 A 900
= 24,000
= 24,000
01 T =S FH SHI 48,000 48,900 A900
OZHIEZAY 48,000
—EdH(UE) 48,000,000& 48,000
= 24,000
= 24,000
sI1H SSX& 400,000 402,000 A2,000
402 QI2EHE0IH 400,000 402,000 A2,000
01 2IHX=Ex 400,000 402,000 A2,000
O%sd 248 sIIAH A& 400,000
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M s€lis4dH

HH: sl a S (SEHYSM/5 - 5E)

&2 s8I A = (ctel: &
SNBSS - MEAY - BES 0l &k o4 e bz 2
-8 sJIA 20,000,000 *50CH *30/100 300,000
—28 s 5,000,000 *20CH 100,000
SSIIAHSAIY EA 35 582,801 391,160 191,641
101 1244l 82,721 0 82,721
04 JIZtHIZ2E2HEES 82,721 0 82,721
OsJIH tho2d ¥ =32us 29 82,721
—Jl23 50,800 x5 H 240 60,960
— ==Y 50,800 x5 % *50H 12,700
—4UE2E = 73,660,000& *12.3% 9,061
201 LetEHH| 86,440 54,040 32,400
01 AFR22lH| 20,000 16,100 3,900
(@F=R=lE = x| 8,100,000& 8,100
oz2d=¢ 700,000& 700
on=dl 4,200,000& 4,200
OF=1=3:] 5,000,000& 5,000
Oogx= 2,000,000& 2,000
02 =234l 66,440 37,940 28,500
OS2 XA 49,640,000& 49,640
OAl & EHI= Xl 10,800,000& 10,800
OXtg & 8] 6,000,000& 6,000
202 O4Hl 19,440 15,120 4,320
01 =LA bl 19,440 15,120 4,320
OsJlAzelgd 19,440,000& 19,440
203 HRF&AH| 1,000 1,000 0
03 AEFIHSFAH| 1,000 1,000 0
O=ZIIAHS At F=& 1,000,000& 1,000
206 M=l 168,000 172,000 24,000
01 M=Hl 168,000 172,000 24,000
OsJIH =328 F5+Y 40,000,000& 40,000
OsJIH =el&8 224 =+ #*¢
4,000,000& 4,000
Oz3l=c ¥ o2l 225 #¢
4,000,000& 4,000
OsJIH tho2d +~cl8 85 +¢
60,000, 000& 60,000
olo=2d HHHEg & HEMHE 7L
10,000, 000& 10,000
OSJIAH etEALD MY MEXNSEHHEAS EX 50,000
—MEXNSEAS(ZERS) X
100, 0002 *500CH 50,000
303 ZAa= 8,000 8,000 0
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M s€lis4dH

HH: sl a S (SEHYSM/5 - 5E)

el SSIIAHS (etel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
01 Z&a3 8,000 8,000 0
OsSJIHEESRE &PAZE 8,000,000& 8,000
401 Al &HIL 201 45,000 0 45,000
01 Al£Hl 45,000 0 45,000
OsJIH ns2 MR Jdl & g8 4X
15,000,000& 15,000
OS3dgd 41X 30,000,000& 30,000
402 22t =01 50,000 0 50,000
01 2IEXEE X 50,000 0 50,000
OsJIH ArZS At A SUE A 50,000
—=J|H =elAE Hd
50,000, 000& 27 2~ *50/100 50,000
405 AHoHESHI 122,200 126,000 23,800
01 MHARESFSH 122,200 126,000 23,800
OsgE U=x 312850 32
800,000 »100CH 80,000
Oz2l=cl F52cliEH &8
2,000, 000& *24 4,000
OsIIH +=2l& 2ZE 7Y
15,000,000& *14! 15,000
OsJIH =2lg &Y ¢ 20,000,000& 20,000
OsJIH 828 28I UH 800,000& =4 CH 3,200
SIIH SUAME 2,389,250 1,650,000 739,250
401 Al&HI LR OHYI 1,940,000 1,150,000 790,000
01 Al&HI 1,895,574 1,142,754 752,820
S2d sJ/H Ho2d &X 947,787,000 947,787
OEsd sJIH o= &Xl 947,787,000 947,787
02 Zeldl 32,204 0 32,204
O=8d sJIH tosdy &X
970,000,000% *1.66/100 16,102
Ogsd sIIH toad &X
970,000,000& *1.66/100 16,102
03 Al =R0HHl 12,222 7,246 4,976
O=8d sJIH to=sdy 4X
970,000, 000& *0.63/100 6,111
Og&d sJIA to2d &X
70,000,000 *0.63/100 6,111
405 KHAHFESHI 449,250 500,000 A50,750
01 HARESF=H 449,250 500,000 A50,750
OUH =J1H = 300,000,000 300,000
otc=d 2el&dl = 149,250, 000& 149,250
sOH o2t &4 81,000 86,000 /5,000
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M s€lis4dH

HH: sl a S (SEHYSM/5 - 5E)

el SSIIAHS (&9 HM
_ ) _ pofEN
A -3 -H2A(SH) - HEAMY - BES O AFH bﬂ/‘\_“’” Hos
206 M= dl 3,000 0 3,000
01 Mz bl 3,000 0 3,000
OsJIAlH2d FHY A28 7Y
2,000,000& 2,000
OsJIHHESY tdEF R 2L
500,000& »23| 1,000
401 AlEHIZL 20U 58,000 76,000 A 18,000
01 Al&HI 57,568 75,244 A17,676
OESd SJIH o2& MIE 2 H=Xc
A& &X 15,000, 000& 15,000
OgRd tHouad =sJ1H &otxts elZE 4
X 39,568,000 39,568
OUH2e SHHEXE AX
3,000,0002 *1J0 £ 3,000
03 AlZ=20Hbl 432 756 A324
OgRd tHo2d sJI1H Hotxs elZE 4
Xl 40,000,000 *1.08/100 432
405 Xt&bESHI 20,000 10,000 10,000
01 MHARESFHSH 20,000 10,000 10,000
o2& AR 2 10,000,000 10,000
OUH=8 MXE D MEI 2
5,000, 000& 24| 10,000
SEE S48 sIIH SSMY 128,400 114,000 14,400
< 44,500
= 83,900
402 22t E0lH 128,400 114,000 14,400
[ 44,500
= 83,900
01 QIZERIEE X 128,400 114,000 14,400
OGHIBZAIY 128,400
—U=28 420 332 13,500,000 13,500
= 4,050
= 9,450
—U=2d 2dgaed| 3=
340,000,000% *30/100 102,000
< 34,000
= 68,000
—=54 40| 21,500,000& =60/ 100 12,900
== 6,450
= 6,450
SIH 83z U= 3,400 0 3,400
< 1,700
i 1,700
202 o4 3,400 0 3,400
[ 1,700
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SN S SME
HE: s)EL (SHHSLL/SY - &)
Sl S| st (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 1,700
NIETE 3,400 0 3,400
OZHIB EAIY 3,400
—=J1 B®IZ DRXY  3,400,0008 3,400
= 1,700
2 1,700
SHZ RS D (SHHSLM/SY - &) 8,734,967 7,705,523 1,029,444
=2 623, 155
=l 800,000
| 802,100
2 7,000
= 1,234,655
2 5,268,057
S42 RS A 4,793,370 3,539,920 1,253,450
= 360,000
3 800,000
| 760,000
= 800,000
2 2,073,370
S42 MXRSHE 212 (APC) 450,000 1,225,000 A775,000
3 300,000
= 150,000
402 Q12X 0|H 450,000 1,225,000 A775,000
=l 300,000
= 150,000
01 QAR =R E 450,000 1,225,000 AT75,000
OBAXN AL HSH 3 HAIY 450,000
U SASMNRSHH ANLS
1,000,000, 000! *45/100 450,000
3 300,000
= 150,000
S42 BRI 177,080 187,480 10,400
201 Yer2g| 28,780 28,180 600
01 AtR2elt| 16,980 16,980 0
SETIER=1 12,300,00024 12,300
osg+g 1,680,0002 1,680
o3zl 3,000, 0002 3,000
02 ZZ2Y| 1,800 1,200 600
O2ZRILHA 1,800,0002 1,800
03 A2 Y] 10,000 10,000 0
OUEA RSUM SSUHE JI2F ASE
o 10,000,000 10,000
202 01t 10,800 10,800 0
01 =2Ujoit| 10,800 10,800 0
Osig BE N8 Y2 10,800,008 10,800
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Sk S UE
PR 2SS 2 (=Hilgrd/ s - s&)
ol =78 Mo ced A
X
M. ool(3]0]) - HRAIY - BAS Aro e =2
PR =& 1,500 1,500 0
ANEBZ=XHRFA 1,500 1,500 0
ORF==S4&2 ) 843 1,500, 000& 1,500
M 28l 2,000 3,000 A 1,000
M 28I 2,000 3,000 A 1,000
OsSag BE FA(AA)EAE HE7L
2,000,000 2,000
ABtE A= 4,000 4,000 0
HALAHIE &S 4,000 4,000 0
O=S4t2 &Al AL 2SR 24
4,000,000& 4,000
QI2tol & 70,000 70,000 0
QIRtF A8 X 70,000 70,000 0
Od=gdei3sedaE =]l N
60,000, 000& *50/100 30,000
OR+==SNEZ2 NN =hel K&
5,000& *10,0002] *80/ 100 40,000
QI2tX =201 ™ 60,000 60,000 0
QItEE X 60,000 60,000 0
o ZHI K& 120,000, 000& x50/ 100 60,000
Feel ZEHSASYE S 55,250 155,250 A 100,000
AU2IH| 50,000 120,000 A70,000
A2 G HI 50,000 120,000 A70,000
Ofecl 3 S8 SE S FOt 50,000,000& 50,000
ABtE A= 5,250 5,250 0
HALAHI B AZ 5,250 5,250 0
OFeel S48 3 2IIH 24
70,000& 15 X *5 5,250
=2 SAE 4X 210,000 250,000 240,000
& 170,000
[ 40,000
QI2EX20| M 210,000 250,000 240,000
& 170,000
= 40,000
Q22 E X 210,000 250,000 A 40,000
OEHIEXZ A 210,000
—HARARSY RAAXAL L3
128,000,000& *62.5/100 80,000
& 40,000
= 40,000
—Ed=E stERSAE EX
200,000,000& *30/100 60,000
& 60,000
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SN SIlEHEH
Hal: SN2 RS Hol(SHYLM/5Y - 5F)
o9 SAS RS A (Sl &2)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
—H558 MM A 70,000,0008 70,000
= 70,000
SUHSREIAN B4 1,096,500 1,096,250 250
307 Q1201 46,500 46,250 250
VR EES 46,500 46,250 250
OSMSRESA ]4 X8 46,500
—24 SSMS Y X
5,000 %9, 0003 %70/ 100 31,500
—PAEME HHRSYM S SHHA
30,000, 00021 %50/ 100 15,000
402 Q12X 0|H 50,000 50,000 0
01 DIATEEE 50,000 50,000 0
OZsEs T2 HEAXE
100,000, 0002 *50/ 100 50,000
502 X3 1,000,000 1,000,000 0
01 EX2 1,000,000 1,000,000 0
ORSaANLE BN 1,000,000, 0002 1,000,000
SSM2 BS2UE =Y 224,540 144,540 80,000
201 LByl 14,540 4,540 10,000
01 Attt 4,540 4,540 0
oY+ 3,000,00024 3,000
o=gag 1,540,0002 1,540
03 A2 | 10,000 0 10,000
OYBZUCHA &0} 10,000,00024 10,000
402 2121 XH 01 F 210,000 140,000 70,000
01 PIZREEE 100,000 100,000 0
OR BSZYUE 228 IR N
1,000 %200,00074 %50/ 100 100,000
02 DIZHHE AL b 110,000 40,000 70,000
ONBHE XH2D 20,000, 00021 *47H 2 80,000
OLED ®Z® 23] 30,000, 0002 *17H 2 30,000
A2 KA X 1,520,000 0 1,520,000
| 760,000
= 380,000
2 380,000
402 RI2AX20IH 1,520,000 0 1,520,000
| 760,000
= 380,000
2 380,000
01 PIZXIZEE 1,520,000 0 1,520,000
O2HI2EAIY 1,520,000
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M s€lis4dH
= A

Hal: SN2 RS Hol(SHYLM/5Y - 5F)
o9 SAS RS A (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
T EEEELE
1,900,000, 00021 +80/ 100 1,520,000
| 760,000
= 380,000
2 380,000
HELSAE JIBAL 2K 700,000 0 700,000
=l 500,000
= 100,000
2 100,000
402 212t XH 0| F 700,000 0 700,000
3 500,000
= 100,000
2 100,000
01 UAEEE 700,000 0 700,000
OBAX AL HSH 3 H A 700,000
—=M2 HE - HE X
1,000,000, 00024 +70/100 700,000
=l 500,000
= 100,000
2 100,000
AREEH SN 360,000 0 360,000
=2 360,000
307 212+0IH 360,000 0 360,000
= 360,000
02 QIAAMBE 360,000 0 360,000
ORI EAIY 360,000
—NZ2REA SEX
450,000, 00024 *80/100 360,000
= 360,000
A0lare 2 N2 1,515,184 1,238,965 276,219
= 215,005
= 126,312
2 1,173,867
CRMHA B 25 600,500 105,000 495,500
402 Q12X 0|H 600,500 105,000 495,500
01 DIAX=EE 600,500 105,000 495,500
OFTACHYI QI XOl SIIASE X4 600,500
— o0 X0 X
1,750, 0002 ¥572ha =50/ 100 500,500
—=28 294 AL
5,000, 0002 *20ha 50/ 100 50,000
—DSHIOI WHHEK X2
50,000,000 *1H 2 50,000
NEEN IS 61,000 76,554 A15,554
= 23,500
2 37,500
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S s
Ha: =4
210

el

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

402 QI2HRHE01M 61,000 76,554 A 15,554
23,500
37,500

M

01 22t ES 61,000 76,554 A 15,554
A 61,000
ol 2432 SFd AlY

10,000, 000 * 17K 2~ =80/ 100 8,000

3,000
5,000

EURCH

—AEZ0 A HE SFxd Al

10,000,000 *1JH 280/ 100 8,000
3,000
5,000

Mk

50,000,000 *1JH 2 +80/100 40,000
15,000
25,000
—SACHM B 2 ZHE|AIEH 5,000,000& 5,000
2,500
2,500

Ml H1

Ml

=

X
10
=
2
[y
>
S
00
fol
0
ol
>
0
>
02

250,010 63,000 187,010
125,005
37,500
87,505

M

402 22t =01 250,010 63,000 187,010
125,005

37,500
87,505

H M

01 ezt

S 250,010 63,000 187,010
250,010

=

o
HXIOlE S8 ANJAALY
250,010,000& 250,010
125,005
37,500
87,505

A
< 21 0f

MW

tlsEe-slI=(KREXNF D) 180,000 100,000 80,000

90,000
90,000

M

201 Ler2dl 1,500 0 1,500
750
750

M

2teltl 1,500 0 1,500
HIZ A 1,500

,000& 1,500

750
750

M
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M s€lis4dH
= A

. A2 R D(SUHNSAL/EY - BE)
Crol: R0 2 MDD CERE
S . "M . O (5 HEAY . B2 Ab OH S Hl =2+
207 AL Y| 38,500 0 38,500
= 19,250
= 19,250
03 AlEdH 24| 38,500 0 38,500
O=HIEXZ AL 38,500
—u-ITOIE SOUBME WEAAE JI2S(20
10) ~nF4&H 38,500,000 38,500
= 19,250
[ 19,250
402 212t XH=01A 140,000 100,000 40,000
= 70,000
= 70,000
01 SIZtGEEX 140,000 100,000 40,000
O=HIEXZ AL 140,000
—SHOIHISOIZ ©II THHHAIE (2010)-D S 4
= 40,000,000 40,000
= 20,000
[ 20,000
—2XNH2 A2 MM = (A R)-2
SNE 100,000, 000& 100,000
= 50,000
= 50,000
HUAIE &X 43,200 40,500 2,700
& 34,950
= 8,250
402 DIt X =01 M 43,200 40,500 2,700
& 34,950
= 8,250
01 It GEEZ 43,200 40,500 2,700
OZHIEZ At 43,200
—QaE DsEEY J|BAE 87
60,000,000& *50/100 30,000
= 30,000
—&JI1237 &X
16,500, 000& *2JH 2~ *40/100 13,200
= 4,950
= 8,250
WASE ObFMAK R 65, 174 3,550 61,624
= 30,362
= 34,812
201 Yot y) 2,000 2,000 0
& 1,000
= 1,000
01 AtE222|Hl 2,000 2,000 0
OEHIBEXZ A 2,000
—S&2 M A T AL 20,0003 *100& 2,000
& 1,000
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SA: SetlEHE
Ha: S02 RS Hol(SPHYSLN/sY - 52)
ol RAIAY HH RID cHel &

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
= 1,000
307 2I2t0| ™ 7,840 0 7,840
T 2,310
= 5,530
02 Slz2+t& & 7,840 0 7,840
OZHIE 7,840
—s&E 22N (AP) S22 X
7,840,000 7,840
& 2,310
= 5,530
402 DI2tX= 55,334 1,550 53,784
& 27,052
[ 28,282
01 SIz2tXtE 55,334 1,550 53,784
OZHIE 55,334
—&E 31,000 x504¢ Xt 1,550
& 400
= 1,150
—JUAY STHOHE MIIHHES
80,0003 *20H 2~ 1,600
= 560
= 1,040
— XA A tHah XI&
104,368, 000& x50/ 100 52,184
& 26,092
= 26,092
FTACHHI AT R0 Z 235t 315,300 720,800 A 405,500
206 T2 bl 1,000 1,000 0
01 MH=z=Hl 1,000 1,000 0
OFE2 ANEHHE S
100,000& *10& 1,000
301 L2 AZ 1,800 1,800 0
10 HArAHIE 1,800 1,800 0
ONE2 & = 30,0003 *x30H »23| 1,800
402 It X =01 M 312,500 668,000 A 355,500
01 QI GEEXR 312,500 668,000 A 355,500
OMAsE ¥ === ol¥™el 50,000,000 50,000
OFLUE, 35 MMHI =4
200,000,000& *1ha*50/100 100,000
ou=sd s ESDIEDNE-
2,000,000 *50CH*50/100 50,000
O0t=2dx=AMd 4x X&
4,000,000& *25JHf 2~ %50/ 100 50,000
OoteA =34 XN
120,000 *1,000=2*50/100 60,000
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SN SIlEHEH
HE: A2 RS 2ol(s530 =9 5&)
Sl ROIAY AW R el AR
_ _ HE T
M« B2 - S2(3H) - MRAY - BaS arol il ot o =
OBt2A 223E NHSHEHDII X2
2,500,000 2,500
Es9 54 1,356,050 1,828,080 A471,980
= 219,020
2 137,030
+E=IIN 179,220 114,000 65,220
= 164,220
2 15,000
307 Q1201 119,220 104,000 15,220
= 119,220
02 DIRIAMNBE 119,220 104,000 15,220
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